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Degree (Part-11) (Vocational)
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| (Honours)

COMPUTERAPPLICATION
| Paper : Third |
| PPU-D-11-(H)-BCA-3 |

Time : Three Hours] \ [Maximum Marks : 75
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Note : Candidatzes are required to give their answers in their own

words as far as practicable. The questions are of equal

value. Answer any five questions.

/ (a) What is Computer Network? Write advantages
of Computer Network.

(b)  Discuss twisted wire and its role in Computer

Network.

2. (a) Write difference between Circuit switching and

Packet switching.
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(b) What is Gateway? Discuss advantages of

Gateway.

/ (a) Write the rules of Boolean Algebra.

)bﬁ\/hat is Half Adder? Discuss Half Adder with

diagram.

e i {a) What is Intranet? How Intranet is different from

Internet discuss?
/Q:f)/ Write AND, OR and NAND gates with diagram.

9. (a) Write difference between dial-up and leased line

connection. | -

S — —

(b) What is Constant? Discuss the symbolic

constant with suitable example.

6. J;af Discuss types of decision making statements with

example.

(b) What is Explicit type Conversion? Discuss with

suitable example.

\/ (@)  Write the difference between decision making

statement and loop.
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(b) Discuss types of Pointer with suitable example.

-

A _/(,27" Define malloct), Calloc () and free () with
example. '

| o
)Ja‘f Write a program to take a number and print sum

of factors of a number.
9. (a) What is Union? Discuss advantages of Union.

(b) Write a program to take EmpCode, name and

salary of employee and display using union.

/18./ Write short notes on any four of the following :

) Meshin i & i
6)  scanf()
©)  puts()
(@ gets()
(e)  getchar()
() eof()
______ ol
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Degree (Part-11) (Vocational)
Examination, 2022

(Honours)

COMPUTER APPLICATION
[ Paper : Fourth |
| PPU-D-1I-(H)-BCA-4 |

Time : Three Hours] [Maximum Marks : 75
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Note : Candidates are required to give their answers in their own
words as far as practicable. The cjuestions are of equal

value. Attempt any five questions.
|
(a)  Define Date Structure and Operations perform on
it. '

(b) Define Time and Space Complexities analysis of

e_,Z/_(a)

an Algorithm.

Define the singly linked list. Also write a program

to create singly linked list.
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(b) Define circular singly and doubly linked list,

i | Y Write an algorithm to convert an infix expression

into postfix expression.

(D) Write a program to implement a stack using a

array.

/ (a) Define linear queue. How circular queue is better

than linear queue.

(b) Write a function to delete a number in circular

queue.

/‘o./ (a) . Define binary tree and its types.

(b) Define the traverse of a Binary tree with an

example.

6. (a) Define the Expression tree. Create the expression

tree of the following expressions :
(i) (a.- b)+(c><d)
(i) a+b/cxd-e

(b) Write a function to insert a number into a Binary

search tree.
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7 (a) Define the threaded Binary tree.

(b) Define the AVL tree and also discuss the

advantages of it.

8. (a) Discuss t_he repr.esentgtion of Graph.

(b) Define the deptl;l first search Algori'thm.' .
9. D:efine the AUTOCAD with its -_Ifeatures.
10. Write short notes on any tﬁreé of the following :

(a) Binary search

(b) Bubble sort

(c)  Selection sort :

(d) Minimum épanning tree

______ x------_‘_ | - . |
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1404-02 : : Total Pages : 8
Degree (Part-1I) Examination, 2022
( Vocational - Subsidiary )

MATHEMATICS
[ PPU-D-I1-(SUB)-MATH |

Time : Three Hours] [Maximum Marks : 100

Note : Candidates are required to give their answers in their
own words as far as practicable. The questions are of
equal value. Answer any five questions in all. Question

no.l is compulsory. Besides this. attempt one

question from each Group.

E: Choose the correct option of the following :
. . ay .
(1) If y= Jsin x then g IS :
1

(a) Esin Xicosx

(b)  Jcosx

1404-02/1590 £40) [P.T.0.]
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1]

it (¢) $iN X.COS X

(d)  None of these |

(i)  If y=xsin(a+ y)then = is

dx
b ' |
sin“(a+ y) |
(a) ( Y)
sina
sin a
(b) sin’(a + y) |
 sin(a+y)
() ——=2
cosa
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(d)  None of the above

(vii) If %+y!agx = x*{]

i

-
L
.
i
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(b)

3 (a)

(b)

4. (a)
(b)

s (a)

1404-02/1590

d”x :
(L'- ) — = X
dt’

(d) None of these

Group-A

- State and prove Leibnitz theorem on SUCCESSIVE

differentiation.

[f y =sin(ax +b) thenfind y, .

xsin~ x
Evaluate _[
\/ bt®

dx

ll()g(1+2X) & =£10g2 |
0 1+x 8

Show that

Solve Q(l + .xz) fan "+ p=0
dx

d , \
Solve ' :)—+tani_

75 X
AV

Solve 1o + 3y = X,
ax

o)

{
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(b) SOlVe (.I + l) : dy | 1*__ Re? }
dx |

Group-B

Write down the necessary and sufficient

o

condition that the three non-parallel, non-zero

vectors g.h.¢ be coplanar.
(b)  Provethat (Gxb)xc =(G-¢)b—(b-¢)a-

Z/ - If a,b,c¢ are three non-coplanar vectors then prove

that b xc,c xa,ax b arc also non-coplanar.

Group-C

8. (a)  Find the equation of the line of action of the
resultant of coplanar system of forces acting

on a rigid body.

(b)  Obtain necessary and sufficient conditions for
the equilibrium of a system of coplanar forces

acting on a rigid body.

9. (a)  Find the radial velocity of a particle P(r.4)

describing a smooth curve.

1404-02/1590 = [P.T.O.]
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( Vocational - Subsidiary )
ENGLISH
| PPU-D-11-(Sub)-ENG |

ITim(s: : Three Hours] [Maximum Marks : 100
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Note : Candidates are required to give their answers In their own

i

words as far as practicable. The figure in the margin

indicate full marks. Answer all questions as directed.

1. Explain with reference to the context of any three of the

following : ’ [8x3=24]
(ﬁ)/Beasts of England, Beasts of Ireland,

Beasts of every land and clime,

Hearken to my joyful tiding,

Of the golden future time.

Pl Crafty'men condemn studies, simple mén admire
them, and wise men use them; for they teach
not their own use; but that is a wisdom without

- them, and above them, won by observation.

2407-02/2560 (1) - [PTOl
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(€)  Ifhe be an unbeliever, he will be too profound ang
hmmwtommnnmmnwwmmm
it he i€ too wise to be a dogmatic or fanaticin his
infidelity He respects piety and devotion, he even
supports institutions as venerable, beautiful or
useful to which he does not assent; he honours
the ministers of religion, and it contents him to

decline its mysteries without assailing or

denouncing them.

M) Modern man remembers even telephone
numbers and names of actors and actresses

and cricketers and fooMlefs and murderers.
Thus he can remember almost everything in his

(e) | have been performing tricks for you, waald.
‘That's how I've survived. You wanted it like that.
® You and pépa have done me a gmatmng it's

. .~ 'beﬂauseofyoul'vémade:n@thingof'myﬁfé. ‘

RS ' Life is made up of sobs, sniffles and smiles, with
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